
Section B 

Circle the Correct Answer 

 

1.  There are 4 red counters and 3 black counters in bag A.  There are 4 red 

counters and 5 black counters in bag B.  Pam picks a counter from bag A and 

places it in bag.  She does not know what colour counter she picked from bag 

A.  She then picks a counter from bag B. Which of the following could be the 

probability of Pam picking a red counter from bag B. 

 

 

 

A 1 
2 

B 3 
5 

C  9_ 
10 

D  3_ 
10 

E 4 
5 

 

 

2.  Two angles of a quadrilateral are 95o and 75o.  Which of the following could 

be the difference of the other two angles? 

 

 

A. 190 B. 180 C. 195 D. 200 E. 205 

 

 

3. The first two terms of a sequence are 1, 2. Each term after is the sum of all 

the previous terms in the sequence. Which of these is not part of the 

sequence? 

 

 

A. 3 B. 6 C. 24 D. 50 E. 96 



4. What is the difference between the smallest 3-digit number and the largest 

4-digit number? 

 

 

A. 1 B. 900 C. 1001 D. 9998 E. 9899 

 

 

5. Sixteen people, and no more, can sit evenly spaced around a large square 
table. Jas arranges six of these square tables in a row to make one long 
rectangular table. What is the maximum number of people that can sit evenly 
spaced around this long table?  

 

 

A. 46 B. 76 C. 56 D. 96 E. 86 

 

 

6. A square piece of card has perimeter 28 cm. Ann cuts the card into two 
rectangles. The perimeter of one of the rectangles is 16 cm. What is the 
perimeter of the other rectangle?  

 

 

A. 26 B. 16 C. 14 D. 24 E. 20 

 

 

  



7. The diagrams below show three different views of the same cube. Which 

letter is on the face opposite M?  

 

 

A. I B. P C. K D. U E. O 

 

 

8. Jan counted a total of 100 cars parked in four rows of a departmental store 

car park. Five minutes later, 10 cars had driven away from the first row, 8 cars 

had driven away from the second row, 6 cars had driven away from the third 

row and 4 cars had driven away from the fourth row. She noticed that there 

was now the same number of cars in each row. How many cars were originally 

parked in the third row?  

 

 

A. 24 B. 19 C. 25 D. 18 E. 23 

 

 

 

9. A small ink cartridge has enough ink to print 400 pages. Three small 

cartridges can print as many pages as two medium cartridges. Three medium 

cartridges can print as many pages as two large cartridges. How many pages 

can be printed using a large cartridge? 

 

 

A. 600 B. 900 C. 1200 D. 1800 E. 2400 

 



10.  

 

 

 

 

A. 22 B. 24 C. 26 D. 28 E. 30 

 

 

 

11. Khris Krigle gives each of his helper’s one twelfth of a giant chocolate bar 

that he had. One third of the bar was left. How many helpers did he have?  

 

 

 

A. 6 B. 8 C. 12 D. 15 E. 18 
 

 

 

12. The Crystal Palace bridge has carried 300 million cars since it was opened in 

1964. On average, roughly how many vehicles is this per month? 

 

 

 

A. 50 000 B. 500 000 C. 5 000 000 D. 6 000 000 E. 60 000 000 
 

 

 

A train display shows letters by lighting cells in a grid, 

such as the letter ‘o’ shown. A letter is made bold by 

also lighting any unlit cell immediately to the right of 

one in the normal letter. How many cells are lit in a 

bold ‘o’? 



13.  How many of the six faces of a dice (shown below) have fewer than three 

lines of symmetry? 

 

 

 

 

A. 2 B. 3 C. 4 D. 5 E. 6 

 

 

14. In the diagram shown below, which square could be removed with the 

perimeter of the shape remaining the same? 

 

 

 

 

 

 

A. 1 B. 2 C. 3 D. 4 E. 5 
 

 

15. Two numbers X and Y (where Y is bigger than X), have a Highest Common 

Factor of X.  What is the Lowest Common Multiple of X and Y? 

 

 

A. Y B. X2 C. Y2 D. 2Y E. XY 
 

 

1   5   

  3   4 

 2     



 

End of Section B 

 


